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[0 O 0O O O integer, whole numberd 1. I [J [ factor or divisor[] 2.
[ O O O (quotients and remainders)3. [ U 00 OJ O [ odd and
even integerst] 4. J OJ O O O O prime numbers and composite
numbersl] [ [ 1. The number of distinct positive factors of n 141
0202520 0000 00O 0O O 0O O 30 A printer number
consecutively the pages of a book, beginning with 1 on the first page .
In numbering the pages, 105he printed a total of 204 digits. The
number of pages in the book [ [ [ [ (decimals)] I 40 Ina
certain two-digit number, the units digit is twice the tens digit. 5The
tensdigit 050 00O 0O OO0 OO O (descriptive statistics) 1.
[J O O [Average or(arithmetic)mean] O 60 0O O 0O 0O 0O O O
400 1000 0dododouododryoogosououn
0000000 102.0 O (median) 3.0 U (mode)4.0 O (range)5.
[ 00 0O O (standard deviation) 801 10 300 1300 170 0 O 0O O O
o dedoll230260 D OO0 OO0 OO (probability) O [
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J0odoboobooooz20000000 000 (Geometry)
[J O 1400 Risa point in the rectangular coordinate system and
OR=5.The x-coordinate of point R500 RO [0 O 00 0 00 4.900 OO [
0O 00150 O 0O 160 According to the graph above, when x=3,
y is most nearly(A) -1 (B) -1/2 (C)0(D) 1/2 (E) 10 O O O

[0 (Word Problem)1.00 00 OO O (interest)d [0 1700 1f $8000 is
Invested at 6 percent simple annual interest, how much interest is
earned after 3 months?l] (1 1801 I1f $ 10,000 is invested at 10 percent
simple annual interest, compound semiannually, what is the balance
after 1 year?2.0J [0 O OJ (discount) [J 1901 The price of an item is
discounted by 20 percent and then this reduced price is discounted
by an additional 30 percent. These two discounts are equal to an
overall discount of what percent? 100Test U O OO0 OO0 0O OO
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